Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

7,089 x

1,53 x

5,921 x

3,431 x

5,512 %

8,294 x

5,406 x

7,565 x

3, 645 x

= 53.67

=708.9

=153

= 5921

=34.31

=551.2

= 8294

= 54.06

=756.5

=36.45

6,719 x

2,603 x

6,614 x

1,418 x

7,825 %

5,436 %

9,523 x

1,134 x

2,173 %

1,178 x

Datum:
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=67.19

= 2603

= 06.14

=141.8

= 78.25

=54.36

=95.23

=11.34

=217.3

=117.8

Ergebnis:
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Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

5,367 x 10 = 53.67

7,089 x 100 = 708.9

1,53 x10=15.3

5,921 x 1000 = 5921

3,431 x 10 = 34.31

5,512 x 100 = 551.2

8,294 x 1000 = 8294

5,406 x 10 = 54.06

7,565 x 100 = 756.5

3,645 x 10 = 36.45

Datum: Ergebnis:

6,719 x 10 = 67.19

2,603 x 1000 = 2603

6,614 x 10 = 66.14

1,418 x 100 = 141.8

7,825 x 10 = 78.25

5,436 x 10 = 54.36

9,523 x 10 =95.23

1,134 x 10=11.34

2,173 x 100 =217.3

1,178 x 100 = 117.8
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